=

2% 113 2FEF—BH ERKER

1130319 REFHREFERE - 1130319 2 FFRFEEB

B/ =2HA SH— SH_ = SHY =3 E
1 |[#WXHR() SIBMHFE(—)
6:10
WX () SETEL  BERS/E AA/CL08|BIEHEL : RIFSBB(T)AA/ER/
2 B8 [E £ 67 : BREIRS /2% AA/C108| A= C112
07:10 EREEN  SERS/BY% AB/C112) , — o — .
08:00 B mEg ;iasﬁiﬁﬁjﬁé}%ﬁ AB;C112 fﬁ”ﬁﬁ?  IRESERE (—)AB/RESH/
3 SEREN  BHERE/B% AA/CL08
BB B £ 6T  BREIR /B 5% AA/C108
oo ER{EET : SWRS/ W AB/C112
' 2) A WEES/H5E AB/C112
BRES : PERHUE/RA/AZ BEE : EEEE(—)/2%Z/ A= FE# . BEAERBEX(E/8H/H SR | BREX(E/aH/R_RE 5510 . F8ERER)/RE/A
B130 B130 =RE B YD EL/EH/HE 8| = B130
B EHEGRE/RX/A=Z  |EER  PEER(—)/2%/ A= ExT . PEEE(S)/ 2%/ A= BRI : TE+=tHaPEECE
4 C108 B130 B130 B|AM/BEA/A= C112
SR PEEEIGE/AR//)G | EFE . ELHB2RABEYES/AT/ |85 KR EMMER R R REAEE/AR/XEI/A=
09:10 mERE/AZ C112 A= C108 /BXR/A= C108 C108 (11/14-12/27 BE& i)
10:00 RIEE/ R ERER/ AR/ A=
C112
BEBR{E . BB REE/fEN/
A= D302
BRES : PERAE/RA/AZ [RBE : SE2EE(—)/2%Z/ A= B . BEESLEXI(E/86H/H SR | BREX(b/8HE/R M2 518 . F8E8HR(ER)/RE/A
B130 B130 =HRE LB . XY PEL/EH/HL—EE — B130
B EHEGRE/RX/A=Z  |EER  PERER(—)/2%/ A= ET  PEEEE(S)/ 2%/ A= BRI : TR+ =P EECE
. C108 B130 B130 BAM/BEA/AS C112
SR PEEBEIGE/AR//)G | EFE . ELHE2RBEYES/AF/ 858 - R RmMMER R R KEALEE/AR/XEI/A=
10:10 mMERE/AZ C112 A= C108 /BAR/A= C108 C108 (11/14-12/27 BE&E LiR)
11:00 BRIEE EREEREWE/MEW/ s/ A REER AR/ A
A= D302 C112
BRE . ERiEmEEE/EN/
A= D302
BRES : PERHUE/RA/AZ [BEE : SEEE(—)/2%Z/ A= FE# . BEAERBEX(E/8H/H SER | BREX(C/mH/R_RE 50 . FBERER)/RE/A
B130 B130 = LW : PEE/EH/ % = B130
B EHRGRE/IRA/AZ  |EER  PEER(—)/ 2%/ A= BTh  PEEE(S)/ 2/ A= BRI : +E+=ttLrPEIECE
6 C108 B130 B130 BAY/BA/A= C112
SR PEIEESE/AR//)G |RFE - BH2REYERE/AT/ | 21355 ( R RInANMER R 7 A a : RBESE/KR/E/A=
11:10 mMERE/AZ C112 A= C108 /BA/A= C108 C108 (11/14-12/27 & FiR)
12:00 RIEE : AN EEERWR/EN/ R EL/HEEESR/ AT/ A=
A= D302 C112
ERE . BB R EE/E/
A= D302
7 IR AREEB/KFR/EI/AN=
12:10 C108 (11/14-12/27 B LiR)
13:00
8 B8 BEBUNR/KR/E/NR
1210 #=12/ A= B130
12:00 STHRER : B AR B AR /Al A=
C108 (11/14-12/27 B HiR)
FE  HRBE()/ZZ/AZ |5 HBFEAE/ATR/AZ BB AETHLEBRNEIRE/A | EIE  EEBNR/AKR/CE//NG | FEE - BREFE/IRK/ A=
9 |B130 C108 =C108 #E32/ A= B130 B130
14:10 SEE AR EBEE/FEH/ A= STAGHRT : BB S E/AR/SEI/AS
15:00 D302 C108 (11/14-12/27 H& L:§)
BE . HFRBER()/Z2Z/A=Z |[BRE  HRER(Z)/2%/AZ |BRE . BRERR/AR/E/ (BIE . BRE/NR/AKR/E//NG | ZFEE . BRETENIRK/ A=
10 |[B130 B130 A= B130 #E2/ A= B130 B130
235W  EEHHg/AR/AZ B8 AETHLEENSE/IRK/A TG BLEB/KR/EI/A=
15:10 C108 =C108 C108 (11/14-12/27 B4 Li§)
16:00 SET AR SEE/MEH/AS
D302
BE HREBEL(—)/ R/ A= ]K—/EEE(—)/,‘.%—HFE% BRE . BRBEREB/AR/XE/ |Eialr: FARE/AKR/XE/AZ | FEE : BEEFIE/RK/A=
B130 BE . HRES(S)/2Z/ A= |[A=B130 C108 (11/14-12/27 &£ EF8) |B130
11 B130 218 A HHEEME/IBA/A
16:10 255m . gERtE/AR/ A= |=C108
17:00 C108
SEH  KRELESHHE/MEH/A=
D302
\k—/ﬁ%ﬁ(—)/.%—}#%% BRE . BRERIE/AKR/E/
12 BRE  HRER(S)/ 2%/ A= |[A=B130
17:10 B130 RIEE - 5= PEHEEEE
18:00 SERAMBOE/ENE/ A= C108
13 RIBE - 5= : PEHEEEE
%g(l)g SERAMBOE/EMNIE/A= C108

XKABRBEATRFARZIBELHRE

REERE . 13 829=38%
RIZI0FRIE (53 Ban=15 89

HERE 285
BEEEXER 3873 (— U— 21— U= 1N 1[0 2)

RIFLE 185

IRKRE 6 F9*3=18 5

ARABriE : 7P9*3=21 8%

XEIFRTE : 2 P9*3=6 £
BRI 3 P9 3=08%

ERBRERTRHAEMMRZEHERE

EESE /DRI EBIZEREE : 2 FI*3=6 85

FEEB 3BN5EVA2RT)

EHEE(E

HERAFANMERZMSEE RERr i

:1fg*2=2 &4

EMEXEEEZ  2F9*3=-6 25

RIS E : 2 P9
(FRREMRABEERARERDRA LS

=385




